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First Semester M.Tech. Degree Examinhtion, July/August 2022
Operati ons M arili$e m ent

;

Time: 3 hrs. ,rt,,,,,,..,. ,* 
.,-.+.;.NIu*.Marks: 
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Note: Answer any FIVE full questions,;ghoiosing ONE full quesltionfiom each module.
,."r:.::, ,i.'t -",,' ,

la.Differentiateclearlybetween'c#.$i-ffiuraland#i;'emanagement.
I.. (10 Marks)

b. Discuss the tasks of a produdtibn manager with a suitable example. (10 Marks)

3 a. Expres$the following linear progtamming problem in
Maximize Z:3xt * 4xzr 2xt

3xr+4xz*5xl>100
whgrg Xl, X2, x1.2 0.

b. Solve the following LPP by Tabular method:
Maximize Z = 3xr- xz * 44 + 2xa

Subject to:2xt - Xz * x3 + xa < 5
2x1+ 1;- * 3xl + 2xe<35

,,,,',1,r,,,,,i,i111 + Xz * 2x3 +46o 539

lhrr|.'
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OR
a.' , Briefly explain the role of slack variables and artificial variables in LP models.

b. Obtain the solution.fur the followin$;fPP by tabular method:
Maximize Z)+"6yt - 3x2 + 2xt ,,:"" ..=-'.",,,

Subject to:"'2x1'+ x2 + x3 < 16

3xt+Zxz+x3S18
x2-2x3)8

where xl, X2, x3}2'9.
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5a.

6a.
b.

Module-3
Using simple exponential smoothing technique,

through period 12 with smoothing constants cr

forecast is equal to demand in that pe1le{
Period De,mand
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dete.qpffi the forecast for the period 1

:r0.1iina' ct : 0.3. Assume fust period

.,,......:..,.,. (10 Marks)
,t-. .

l0'yoars is given below. Estimate the demand for next
alio frnd ihe estimated demand in l lth year and 12th

b.

Year I 2, "i J- 4 5 6"i: ;:pe 8 9 r0
Units 124 135 'T45 150 r67 ,151"', l6l 170 187 168

1r: j::::::::::

(10 Marks)

(12 Marks)

(08 Marks)

(06 Marks)

(10 Marks)

(10 Marks)
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Describe process layout and product layout with suitable

,, .t"

i) Ag$eg,atgtliinning ':ri..,:,,

ii) Line balancing.

,,u,*,i*, Module-4;,,r,'':::.'
a. fxpkitnithe parameters o{,a,p ip,ventory potrcy. ,,, (08 Marks)

b. niscrik'the costs associaltldMh inventol,frfliiy (12 Marks)

'r*yd. 
.pqrl"_.r'ii: ' OIt

af berive an express-ion for determin-r1p EOQthat minimizes total annual inventory costs.

=::,,' (14 Marks)

b. A companyffi 6000 units of atlts uct per month. The product is purchased from outside
for which,*qt"uflcost is Rs.2000.p-'er order. The cost of holding inventory, in terms of capital
tied up amo'tiiits to Rs.l.50 pg unit per month. How frequently should the company place

orders for the product? 
,,,,r*,i!,

. 
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a. Describe master prodtlction system with a block diagram.
b. Discuss the following:

i) ERP system
ii) Quality circle.

Module-S
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(10 Marks)

b,' "Five jobs are to be prbcessed on 3 machines A, C on a shop floor. Determine the
$equonce that rni,nimizos to,tal time f,or thE following job in order ACB.
Determine the total elapsed time for

(10 Marks)
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